
(13)  6

HWL

V= 410 m3 V= 230 m3 3 22
16 A= 162ha 930

V= 230 m3 V= 150 m3 V= 60 m3

2 23 A= 8ha 140

1,500



(14)  7

HWL

V= 230 m3 1 10 18
A= 25ha 400

V= 230 m3 V= 150 m3 V= 60 m3

2 23 A= 8ha 140

1,500



(15)  8-1 3

3 A= 163ha 

V= 120 m3 V= 170 m3 2

V= 230 m3 V= 150 m3 V= 60 m3

2 23 A= 8ha 140



(16)  8-2 2

2 A= 60ha 

V= 170 m3 V= 170 m3 2

V= 230 m3 V= 150 m3 V= 60 m3

2 23 A= 8ha 140



(17)  9

L= 16km 

V= 260 m3 V= 270 m3 2

V= 230 m3 V= 150 m3 V= 60 m3

2 23 A= 8ha 140

16km

400m3/s

16km

400m3/s



(18)  10

H=98.4m 104.0m
V=1,040 m3

H=80.0m V=950 m3 1,600 m3

3 A= 163ha 

V= 230 m3 V= 150 m3 V= 60 m3

2 23 A= 8ha 140

H=98m 104mH=98m 104m



(19)  11

37k

1

V= 260 m3 V= 260 m3 2

V= 230 m3 V= 150 m3 V= 60 m3

2 23 A= 8ha 140

( 37k )( 37k )



12

37k (
)

V= 260 m3 V= 260 m3 2

V= 230 m3 V= 150 m3 V= 60 m3

2 23 A= 8ha 140

( 37k )( 37k )



(21)  13

DID

A= 40km2

A= 2.6km2 A= 140km2 19

V= 290 m3 V= 290 m3 2

V= 230 m3 V= 150 m3 V= 60 m3

2 23 A= 8ha 140

DIDDID

DID

DIDDID

DID

DIDDID DIDDID

DID



(22)  14

3 A= 163ha 

A= 40km2 A= 2.6km2 A= 140km2

19

V= 120 m3 V= 170 m3 2

V= 230 m3 V= 150 m3 V= 60 m3

2 23 A= 8ha 140

DIDDID

DID

DIDDID DIDDID

DID



(23)  15

H=80.0m 84.0m
V=950 m3 1,210 m3

V= 230 m3 V= 230 m3 1

V= 230 m3 V= 150 m3 V= 60 m3

2 23 A= 8ha 140

37.3

H=80m H=84m)

( 37k )

37.3

H=80m H=84m)

37.3

H=80m H=84m)

( 37k )



(24)  16

H=98.4m 104.0m
V=1,040 m3

H=80.0m V=950 m3 1,600 m3

A= 40km2 A= 2.6km2 A= 140km2

19

V= 230 m3 V= 150 m3 V= 60 m3

2 23 A= 8ha 140

DIDDID

H=98m 104m

DID

DIDDID

H=98m 104m

DID

DIDDID

H=98m 104m

DIDDID

H=98m 104m

DID



(25)  17

H=80.0m 84.0m
V=950 m3 1,210 m3

A= 40km2 A= 2.6km2 A= 140km2

19

V= 150 m3 V= 210 m3 1

V= 230 m3 V= 150 m3 V= 60 m3

2 23 A= 8ha 140

DIDDID

37.3

H=4m)

DID

DIDDID

37.3

H=4m)

DIDDID

37.3

H=4m)

DID



(26)  18

H=98.4m 104m( )
V=1,040 m3

H=80.0m V=950 m3 1,600 m3

3 A= 163ha
A= 40km2 A= 2.6km2

A= 140km2 19

V= 230 m3 V= 150 m3 V= 60 m3

2 23 A= 8ha 140

DIDDID

H=98m 104m

DID

DIDDID

H=98m 104m

DIDDID

H=98m 104m

DID



4.3.5

4.3.4 2 18

26 10
26

11

11
 4-9



 4-9



4.3.6

(1)

10 11
P4-80 P4-90

4-10

 4-10



H=85.0m V=500 m3

H=98.4m V=1,040 m3

V= 190 m3 V= 120 m3 V= 80 m3

2 22
A= 8ha 140



H=85.0m V=500 m3

V= 240 m3 V= 240 m3 1

V= 190 m3 V= 120 m3 V= 80 m3

2 22 A= 8ha 140



H=98.4m V=1,040 m3

V= 150 m3 V= 140 m3

V= 190 m3 V= 120 m3 V= 80 m3

2 22 A= 8ha 140



H=98.4m 106.4m V=1,385 m3

V= 70 m3 V= 70 m3

V= 190 m3 V= 120 m3 V= 80 m3

2 22 A= 8ha 140

H=98.4m 106.4m



H=98.4m 110.6m( )
V=1,220 m3

H=80.0m
V=950 m3 1,600 m3

V= 190 m3 V= 120 m3 V= 80 m3

2 22 A= 8ha 140

H=98.4m 110.6m



V= 310 m3 V= 300 m3 1

V= 190 m3 V= 120 m3 V= 80 m3

2 22 A= 8ha 140



2 A= 60ha 

V= 170 m3 V= 160 m3 1

V= 190 m3 V= 120 m3 V= 80 m3

2 22 A= 8ha 140



37k

1

V= 240 m3 V= 70 m3 1

V= 190 m3 V= 120 m3 V= 80 m3

2 22 A= 8ha 140

37k



37k (
)

V= 240 m3 V= 240 m3 1

V= 190 m3 V= 120 m3 V= 80 m3

2 22 A= 8ha 140

37k



H=80.0m 83.4m
V=950 m3 1,170 m3

V= 240 m3 V= 230 m3 1

V= 190 m3 V= 120 m3 V= 80 m3

2 22 A= 8ha 140

H=80m H=84m)

37k



H=98.4m 110.6m( )
V=1,220 m3

H=80.0m V=950 m3 1,600 m3

A= 40km2 A= 2.6km2 A= 140km2

19

V= 190 m3 V= 120 m3 V= 80 m3

2 22 A= 8ha 140

DID

DID

H=98.4m 110.6m

DID



(2)

10 11
7  4-11

4-12 4-23
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